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+ If the company has a positive cash balance at the end of the month, interest will
be receivable at a rate of 6% per annum, paid in the following month (rounded
to the nearest $).

Any negative balance will result in interest being charged at a rate of 9% per
annum, being charged in the following month (rounded to the nearest $).

Any interest is calculated on the balance at the end of each month.
«  The company started with a cash balance of $45 000

(@) Prepare a Cash Budget for each of the first three months of trading, showing your
answer in columnar format.
(14)
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As a new business, loans or an overdraft are not available to the company.

(b) Advise the owners of the company of two actions that they could take to
minimise any short-term cash deficit.

(Total for Question 1 = 18 marks)
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(a) Prepare the following for Period 6:
(i) raw materials account
(3)
Details S Details $
(i) work-in-progress account
(3)
Details $ Details $
(iii) finished goods account
(2)
Details $ Details $
\ v,
7
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(b) Explain two reasons for using control accounts when operating a non-integrated
accounting system.
(4)

(Total for Question 2 = 20 marks)
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(@) Complete the table for Month 6, showing the flexed cost budget for an output of
3 400 units, the actual costs and the variances.

Label the variances as adverse or favourable.

Use the space below the table for your workings.
(14)

Budget Actual Variance

$ $ $

Direct materials

Direct labour
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Production overheads

Administration overheads

Selling overheads

Workings
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i r 3
2 The budget-setting process has produced variances.
g i (b) Advise the company of how effective its budget setting has been, taking into
o = account the variances you have calculated in part (a).
2 « (4)
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(i) prepare the optimum production schedule that will enable the company to
maximise profit
(3)
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(b) Identify two limiting factors (other than direct materials).

(c) Explain the effect of time on cost behaviour.
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(Total for Question 4 = 20 marks)
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(b) Evaluate which project should be undertaken.
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